Simplify each expression.

$$\frac{15\frac{4}{5}\frac{4}{4y^{2}} - \frac{4x}{5} \cdot \frac{4y^{1}}{4y^{3}}}{5} = \frac{20}{20y^{2}} - \frac{16xy^{2}}{20y^{2}}$$

$$= \frac{20 - 16xy^{2}}{20y^{2}}$$

$$= \frac{5 - 4xy^{2}}{5y^{2}}$$

$$= \frac{5 - 4xy^{2}}{5x}$$

$$= \frac{2x^{2} - 2x}{5x}$$

$$= \frac{x(2x - 2)}{5x}$$

$$= 2x - 2$$

$$\begin{array}{r}
(4) \frac{5}{5} \frac{5}{3} + \frac{4}{v+2} \cdot \frac{3}{3} \\
= \frac{5v+10+1\lambda}{3(v+\lambda)} \\
= \frac{5v+2\lambda}{3(v+\lambda)}
\end{array}$$

$$\frac{(5b^{44})}{(5b^{44})} \frac{6}{b-1} + \frac{b+2}{5b+4} \frac{(b-1)}{(b-1)}$$

$$\frac{30b+24+b^2+b^-2}{(5b+4)(b-1)}$$

$$\frac{b^2+31b+22}{(5b+4)(b-1)}$$

$$9) \frac{1}{x^{2} + 2x - 8} - \frac{3}{2x} \cdot \frac{(x+y)(x-y)}{(x+y)(x-y)}$$

$$(x+y)(x-y) \times \frac{5}{x} \cdot \frac{5}{(x+y)(x-y)}$$

$$LCD: (x+y)(x-y)(x)$$

$$\frac{5 \times -3(x+y)(x-y)}{x(x+y)(x-y)} = \frac{5x - 3x^{2} + 6x - yy}{x(x+y)(x-y)}$$

$$= -3x^{2} + 11x - yy$$

$$\frac{11)}{(m+2)} \frac{5^{(m+2)}}{(m-4)} + \frac{5m(m-4)}{(m+2)(m-4)}$$
LCD: $(m-4)(m+2)$

$$\frac{5(m+2)}{(m+2)(m-4)} + \frac{5m(m-4)}{(m+2)(m-4)}$$

$$= \frac{5m+10+5m^2-20m}{(m+2)(m-4)} = \frac{5m^2-15m+10}{(m+2)(m-4)}$$

$$13) \frac{3r}{r+5} + \frac{2}{3r^2} = \frac{5(m^2-3m+2)}{(m+2)(m-4)}$$

$$= \frac{5(m-2)(m-1)}{(m+2)(m-4)}$$

$$\frac{15\frac{3}{3} \cdot \frac{6b}{b+5} + \frac{b-1}{3} \cdot \frac{(b+5)}{(b+5)}}{\frac{18b+(b+1)(b+5)}{3(b+5)}} = \frac{18b+b^3+4b-5}{3(b+5)}$$
$$= \frac{b^3+33-b-5}{3(b+5)}$$

$$\frac{12}{5^{+6}} \frac{\cancel{3}b}{\cancel{3}b - 3} + \frac{5}{b - 6} \frac{(b-1)}{(b-1)} = \frac{b(b-6) + 5(b-1)}{(b-1)(b-6)}$$

$$= \frac{b^{2} - (b+5) - 5}{(b-1)(b-6)}$$

$$= \frac{b^{2} - (b+5) - 5}{(b-1)(b-6)}$$

$$\frac{19}{k^{2}+2k-3} - \frac{4}{k^{2}+5k-6}$$
(K+6) (K-1)(K+3) (K+6)(K+1) (K+3)
$$\frac{6K+36-4K-12}{(K+2)(K+3)(K+6)} = \frac{2K+24}{(K+3)(K+3)(K+6)}$$